/

TENSES W WVYPOTUET)Y CAL  SITUAT OIS

5_ \:g OY\»Q'ﬂ we (C\Ob O e were {;of,cj_.‘ifk
would Never hawe WFM

Q~ \’VS \/\\3\’\ ’E\YV\Q ﬂrov\ —_— (wm\@ Mou - N ool

E l 70\ hllr\\ef 30\’\ SO ('ﬂ :33 W O\

“q. \)O\ rolhes Q\Q — Cwo{’éo) J(";‘/\o% Qant | Z\T
: g Su?(JOSQ | S (o\o) wh et You @A\a! hod

\)\)OU\QO\ b@(,omg Q_F VV\Q/I

é' g\/‘\Q, %&\/ 5 S\AQ)d M \’\Gr \/\Q —_— ( ;‘ e Oy Q} ’I_DJ'\/\OI'{D W .

? \ \D\g\f\ NSO'\V\ — Cbe) here \riow

SChool - Then ey wouldt h 0ol
A Ve
Meie exoms ‘ %’O"”Q




